I am a individual doing the consultation.

I think the moving around part of PIP needs to be changed. Especially the 20m walking distance. 50m has always been the Benchmark a disabled person can walk, this is applied for applying for a blue badge, bus pass and in the Work Capability assessments. Why it was brought down to 20m is something that I cannot understand. I feel it was unfair to make it 20m as it will leave a lot of disabled people missing out on the higher rate. This will lead to a loss of Independence as many people will no longer qualify for a Motability car. This could in effect lead to losing their job, being able to go out and to go shopping,going to Doctor appointments. People could end up housebound.

In my case, I have a Motability car and work *** miles away. Under the descriptors, I may not qualify for the higher rate. If this were to happen, them getting to work would be made very difficult. I find it difficult to use pubic transport as the nearest bus stop is quite far for me to walk. The only way I can get to work is by a car. I cannot afford to buy my own car, so having Motability is crucial for me in order to get to work. I also use my Motability car to get to social events, going to Doctor appointments and shopping. Getting standard rate mobilty wouldn't be enough to help me live independently, as I would lose my car. This would in effect force me to give up my job, as I couldn't get there. 

20m is too short a distance, 50m should be the distance. It is clear to me, that PIP is a cost cutting exercise only. That's why the distance was lowered, so less people qualify for either the higher rate or part of the benefit. I understand there had to be a reform, but PIP is going to be the wrong way to do it. If the walking distance is not changed to a higher distance, then thousands of disabled people are going to lose their Independence. Which will defeat the whole purpose of PIP, which is supposed to help disabled people become independent and lead active lives.

I recommend the following;

Move the distance from 20m to 50m to get 12 points. This would get enhanced rate.

If moving it to 50m is not possible, then extend the walking distance to a slightly higher figure. 35m would be better then 20m, not perfect, but an improvement.

Better worded descriptors. 

I hope my views on the moving around section are considered.

Yours sincerely 

*** ***
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